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1. Choose a large prime p, and a non-zero integer g € Z/pZ*.

SN

reveals this integer to anyone.

3. Alice computes A = ¢ mod p and Bob computes B = ¢” mod p, and they (publicly)

exchange these values with each other.

=

. Now Alice computes A’ = B* mod p and Bob computes B’ = A mod p.

5. A" = B' mod p, so Alice and Bob use this shared information as their key.

ox p= 21

. Alice chooses a secret integer a. and Bob chooses a secret integer b. Neither party
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1. Choose a large prime p, and a non-zero integer g € Z/pZ*.

b

Alice chooses a secret integer a, and Bob chooses a secret integer b. Neither party

reveals this integer to anyone.

3. Alice computes A = ¢* mod p and Bob computes B = ¢” mod p, and they (publicly)

exchange these values with each other.
4. Now Alice computes A’ = B* mod p and Bob computes B’ = A mod p.

5. A" = B" mod p, so Alice and Bob use this shared information as their key.
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x==21

b

4.

letn=1+ _\/m. Thus n > /p.
. (Baby steps) Calculate ¢°, ¢, ¢°

. (Giant steps) Calculate A, A- g ", .

g" mod p. Find an inverse for ¢" mod p.

cgT, L A.g n* mod p.

Find a match between these two lists, so that we have ¢' = hg ™.

5. Then x = 7 + jn is a solution to ¢g* = h mod p.



